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PROBABILITY

Question Bank

1. A coin tossed twice. Find the probability of

getting exactly one head

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yXMh1LwSial9

2. A coin tossed twice. Find the probability of

getting at least one head

o Watch Video Solution

3. A coin tossed twice. Find the probability of

getting at most one head

o Watch Video Solution



https://dl.doubtnut.com/l/_yXMh1LwSial9
https://dl.doubtnut.com/l/_xRwWfWPW9TUm
https://dl.doubtnut.com/l/_1J5sAruoiB0q

4. A coin is tossed three times. Find the

probability of getting all heads.

o Watch Video Solution

5. A coin is tossed three times. Find the

probability of getting at most 2 heads

o Watch Video Solution



https://dl.doubtnut.com/l/_eRue7czGWbMZ
https://dl.doubtnut.com/l/_TCMTPL7FVhTD

6. A coin is tossed three times. Find the

probability of getting at least 2 heads

° Watch Video Solution

7. List all possible outcomes when a die is
rolled twice or a pair of dice is rolled once.
Then find the probability that sum of points is

10

o Watch Video Solution



https://dl.doubtnut.com/l/_fg2f9nSeKrzW
https://dl.doubtnut.com/l/_lU2xmvHjOeT3
https://dl.doubtnut.com/l/_eVjwHHwxnf2F

8. List all possible outcomes when a die is
rolled twice or a pair of dice is rolled once.
Then find the probability that sum of points is

at least 10

o Watch Video Solution

9. List all possible outcomes when a die is
rolled twice or a pair of dice is rolled once.
Then find the probability that sum of points is

at most 10

o Watch Video Solution



https://dl.doubtnut.com/l/_eVjwHHwxnf2F
https://dl.doubtnut.com/l/_V2CFrlXFaTrG

10. A die is rolled twice. Find the probability
that the result of the first exceeds the result

of the second roll by 3

o Watch Video Solution

11. A die is rolled twice. Find the probability
that the result of the first exceeds the result

of the second roll by at least 3

o Watch Video Solution



https://dl.doubtnut.com/l/_V2CFrlXFaTrG
https://dl.doubtnut.com/l/_6epYSkhy3rvW
https://dl.doubtnut.com/l/_Kst0GFryKBKc

12. A die is rolled twice. Find the probability
that the result of the first exceeds the result

of the second roll by at most 3

o Watch Video Solution

13. A card is selected from 100 cards numbered
1 to 100 cards. If cards is selected at random,
find the probability that the number on the

card is divisible by 5

l o Watch Video Solution


https://dl.doubtnut.com/l/_Kst0GFryKBKc
https://dl.doubtnut.com/l/_FK0xT5JcdDUG
https://dl.doubtnut.com/l/_MckJ8VaMHvQa

14. A card is selected from 100 cards numbered
1 to 100 cards. If cards is selected at random,
find the probability that the number on the

card is divisible by 2

o Watch Video Solution

15. A card is selected from 100 cards nhumbered

1 to 100 cards. If cards is selected at random,


https://dl.doubtnut.com/l/_MckJ8VaMHvQa
https://dl.doubtnut.com/l/_jYEkcIrWG7hF
https://dl.doubtnut.com/l/_q2OEPGHXr6Hq

find the probability that the number on the

card is divisible by both 2 and 5

° Watch Video Solution

16. A card is selected from 100 cards numbered
1 to 100 cards. If cards is selected at random,
find the probability that the number on the

card is divisible by either 2 or 5

o Watch Video Solution



https://dl.doubtnut.com/l/_q2OEPGHXr6Hq
https://dl.doubtnut.com/l/_kMGncYFgqSNG

17. Eight person stand in a line at random.
What is the probability that two person X and

Y don't stand together.

o Watch Video Solution

18. What is the probability that four aces
appear together when a pack of 52 cards is

shuffied completely?

o Watch Video Solution



https://dl.doubtnut.com/l/_5OrpHUyV2i5V
https://dl.doubtnut.com/l/_gtJujFq2ZDDI
https://dl.doubtnut.com/l/_Wya4rg0tCMDV

19. If 8 person are to sit around a table what is

the probability that X and Y don't sit together

° Watch Video Solution

20. A die is rolled three times. Find the
probability that the numbers obtained are in

strictly increasing order.

° Watch Video Solution



https://dl.doubtnut.com/l/_Wya4rg0tCMDV
https://dl.doubtnut.com/l/_ouaK3sT9NJB0

21. Three phonorecords are removed from
their jackets, played at random. Find the
probability that none of the records goes to

the right jacket,

o Watch Video Solution

22. Three phonorecords are removed from
their jackets, played at random. Find the
probability that just one records goes to the

right jacket,

| & I


https://dl.doubtnut.com/l/_wrDmkhObAedv
https://dl.doubtnut.com/l/_gLATYH3c5dnU

| ¥ Watch Video Solution |

23. Three phonorecords are removed from
their jackets, played at random. Find the
probability that just two records go to the

right jacket,

o Watch Video Solution

24. Three phonorecords are removed from

their jackets, played at random. Find the


https://dl.doubtnut.com/l/_gLATYH3c5dnU
https://dl.doubtnut.com/l/_K4LGPbX5pvRm
https://dl.doubtnut.com/l/_AeoPbpOUyC9v

probability that all three of them go to the

right jacket,

° Watch Video Solution

25. Four records are taken out of their jackets,
played and returned to the jackets at random.
Find the probability that none of the records

goes into the right jacket.

o Watch Video Solution



https://dl.doubtnut.com/l/_AeoPbpOUyC9v
https://dl.doubtnut.com/l/_DVkWiI0UaDaQ

26. Four records are taken out of their jackets,
played and returned to the jackets at random.
Find the probability that at least one records

is put in the right jacket.

° Watch Video Solution

. 3
27. Let A and B be events with P(A) = 3

1 1
P(B) = E and P(A M B) = Z, Find
)

P(AUB

° Watch Video Solution



https://dl.doubtnut.com/l/_kMVTpMR4HVNM
https://dl.doubtnut.com/l/_LD5uRMHHalaJ

. 3
28. Let A and B be events with P(A) = 3
P

1 1
P(B) = E and P(A M B) = Z,Find (AC)
and P(B°)

° Watch Video Solution
, 3

29. Let A and B be events with P(A) = 3

1 1
P(A°U B°)

° Watch Video Solution



https://dl.doubtnut.com/l/_LD5uRMHHalaJ
https://dl.doubtnut.com/l/_BrRHFDsKKI4v
https://dl.doubtnut.com/l/_9KWKOe4FR1hK

30. Let A and B be events with P(A) =

| — oo w

1
P(B) = 3 and P(ANB) = —Find
P(A° N BY)

o Watch Video Solution

3
31.Let A and B be events with P(A) = 3
1 1
P(A N B°)

o Watch Video Solution



https://dl.doubtnut.com/l/_mChAAERAxy59
https://dl.doubtnut.com/l/_p6Y6IgueUVXF
https://dl.doubtnut.com/l/_dVOYRkqLMCGZ

3
32. Let A and B be events with P(A) = —

8’
1 1
P(B) = 3 and P(ANB)= 1 Find
P(A° N B)

o Watch Video Solution

33. Llet A and b be events with

1 3
1
P(ANB) = T Find P(B)

o Watch Video Solution



https://dl.doubtnut.com/l/_dVOYRkqLMCGZ
https://dl.doubtnut.com/l/_JOZcMjKe6EXr
https://dl.doubtnut.com/l/_kGCTf29u1ZwG

34, let A and b be events with

1 3
1
P(ANB) = T Find P(B)

o Watch Video Solution

35. Let A and b be events with

1 3

P(ANB) = —,Find P(AnN B

1
4

o Watch Video Solution



https://dl.doubtnut.com/l/_kGCTf29u1ZwG
https://dl.doubtnut.com/l/_2KzipKDo98Er

36. Llet A and b be events with

1 3

P(ANB) = —,Find P(A U B°)

1
4

o Watch Video Solution

37. There are 20 defective bulbs in a box of 100
bulbs. If 10 balls are chosen at random what is

the probability that there are just 3 defective

bulbs

° Watch Video Solution



https://dl.doubtnut.com/l/_BAe18HcJD2A3
https://dl.doubtnut.com/l/_56flNJWTMuv5

38. There are 20 defective bulbs in a box of 100
bulbs. If 10 balls are chosen at random what is
the probability that there are at least 3

defective balls.

o Watch Video Solution

39. A pair of dice is rolled once. Find the
probability that the maximum of the two

numbers is greater than 4

o Watch Video Solution



https://dl.doubtnut.com/l/_56flNJWTMuv5
https://dl.doubtnut.com/l/_Rs4H3zgDqFMF
https://dl.doubtnut.com/l/_K29rbaded8oY

40. A pair of dice is rolled once. Find the
probability that the maximum of the two

numbers is 6

o Watch Video Solution

41. 4 girls and 4 boys sit in a row. Find the

probability that the four girls are together

° Watch Video Solution



https://dl.doubtnut.com/l/_K29rbaded8oY
https://dl.doubtnut.com/l/_qemCKXgNnsrF
https://dl.doubtnut.com/l/_WxmY3QPj6qWx
https://dl.doubtnut.com/l/_LoEUtvgPpToz

42. 4 girls and 4 boys sit in a row. Find the
probability the boys and girls sit in alternate

seats.

° Watch Video Solution

43. A committee of 3 is to be chosen from
among 10 people including X and Y. Find the

probability that X is the committee

° Watch Video Solution



https://dl.doubtnut.com/l/_LoEUtvgPpToz
https://dl.doubtnut.com/l/_g4LYOfJeTRA5
https://dl.doubtnut.com/l/_Xjju1VDsqE1s

44, A committee of 3 is to be chosen from
among 10 people including X and Y. Find the

probability that X or Y belongs the committee

o Watch Video Solution

45. A committee of 3 is to be chosen from
among 10 people including X and Y. Find the

probability that X and Y belong the committee

o Watch Video Solution



https://dl.doubtnut.com/l/_Xjju1VDsqE1s
https://dl.doubtnut.com/l/_F0rP9kdOp47O

46. A class consists of 25 boys and 15 girls. If a
committee of 6 is to be chosen at random, find
the probability that all members of the

committee are girls

o Watch Video Solution

47. A class consists of 25 boys and 15 girls. If a
committee of 6 is to be chosen at random, find
the probability that all members of the

committee are boys

| & I


https://dl.doubtnut.com/l/_EIY7AEF07iGt
https://dl.doubtnut.com/l/_FLDuq7uXCv4S

| ¥ Watch Video Solution |

48. A class consists of 25 boys and 15 girls. If a
committee of 6 is to be chosen at random, find
the probability that are exactly 3 boys in the

committee

o Watch Video Solution

49, A class consists of 25 boys and 15 girls. If a

committee of 6 is to be chosen at random, find


https://dl.doubtnut.com/l/_FLDuq7uXCv4S
https://dl.doubtnut.com/l/_nsBqV3JC5JyW
https://dl.doubtnut.com/l/_iXaTEsMGOItQ

the probability that are exactly 4 girls in the

committee

° Watch Video Solution

50. A class consists of 25 boys and 15 girls. If a
committee of 6 is to be chosen at random, find
the probability there is at least one girl in the

committee

o Watch Video Solution



https://dl.doubtnut.com/l/_iXaTEsMGOItQ
https://dl.doubtnut.com/l/_ejKEdv503OtF

51. There are 20 boys and 10 girls in a class. If a
committee of 6 is to be chosen at random
having at least 2 boys and 2 girls, find the
probability that there are 3 boys in the

committee

o Watch Video Solution

52. There are 20 boys and 10 girls in a class. If a
committee of 6 is to be chosen at random

having at least 2 boys and 2 girls, find the


https://dl.doubtnut.com/l/_9fJqQMSGwSY8
https://dl.doubtnut.com/l/_luD0Vw6lnBr4

probability that there are 4 boys in the

committee

° Watch Video Solution

53. There are 120 students in a class who have
opted for the following MIL. English 20, Oriya
70, Bengali 30. If a student is chosen at
random, Find the probability that the student

is studying Bengali or English

° Watch Video Solution



https://dl.doubtnut.com/l/_luD0Vw6lnBr4
https://dl.doubtnut.com/l/_JHD1r2Nxjr91
https://dl.doubtnut.com/l/_nN2mkb2MZzlt

54.There are 120 students in a class who have
opted for the following MIL. English 20, Oriya
70, Bengali 30. If a student is chosen at
random, Find the probability that the student

is studying neither Bengali nor English

O Watch Video Solution

55. Sometimes probability of an event A is

expressed as follows. We say that odds in

x
z+y

favour of A are x to y if P(A) =

Similarly, we say that odds against Aare xtoy


https://dl.doubtnut.com/l/_nN2mkb2MZzlt
https://dl.doubtnut.com/l/_8aIfIP4azzXs

Yy
r+y

odds in favour of Aare2to 5

if P(A) = , Find P(A) and P(A)° if

° Watch Video Solution

56. Sometimes probability of an event A is

expressed as follows. We say that odds in

L

favour of A are x to y if P(A) = n
z+y

similarly, we say that odds against Aarextoy

Yy
r+vy

if P(A) = , Find P(A) and P(A)"if odds

against A are 4 to 3

o Watch Video Solution



https://dl.doubtnut.com/l/_8aIfIP4azzXs
https://dl.doubtnut.com/l/_vyWMssSonHjD

57.Six dice are rolled. Find the probability that
all six faces show different shows different

numbers

o Watch Video Solution

58. There are 60 tickets in a bag numbered 1
through 60. If a ticket is picked at random, find
the probability that the number , on it is
divisible by 2 or 5 and is not divisible by any of

the numbers 3,4, 6


https://dl.doubtnut.com/l/_vyWMssSonHjD
https://dl.doubtnut.com/l/_KaX8xgaWyIb4
https://dl.doubtnut.com/l/_Ue3b7P6zdWJH

° Watch Video Solution

59. Compute P(A A B) in terms of P(A), P(B)

and P(AN B) where A A B denotes the

symmetric difference of A and B.

° Watch Video Solution

60. Three volumes of book and five volumes of

another book are placed at random on a book


https://dl.doubtnut.com/l/_Ue3b7P6zdWJH
https://dl.doubtnut.com/l/_XuQrccKPg4Yb
https://dl.doubtnut.com/l/_FhsoSNYSQbhs

shelf. Find the probability that all volumes of

both the books will be found together.

° Watch Video Solution

61. 2 black cards and 2 red cards are lying face
down on a table. If you guess their colours,
find the probability that you get none of them

right

o Watch Video Solution



https://dl.doubtnut.com/l/_FhsoSNYSQbhs
https://dl.doubtnut.com/l/_EcwGejIHB9in

62. 2 black cards and 2 red cards are lying face
down on a table. If you guess their colours,
find the probability that you get two of them

right

o Watch Video Solution

63. 2 black cards and 2 red cards are lying face
down on a table. If you guess their colours,
find the probability that you get all four of

them right

| & I


https://dl.doubtnut.com/l/_CB4jdfl0nZgd
https://dl.doubtnut.com/l/_oFmdIdfLip7Z

| ¥ Watch Video Solution |

64. A school has six classes 1, 2,3, 4,5 and 6
classes 2, 3, 4, 5 and 6 each have the same
number of students, but there are twice this
number in class 1. If a student is selected at
random from the school, What is the

probability that he (she)will be in class 1

o Watch Video Solution



https://dl.doubtnut.com/l/_oFmdIdfLip7Z
https://dl.doubtnut.com/l/_FdfXUG9BCFQW

65. A school has six classes 1, 2, 3, 4, 5 and 6
classes 2, 3, 4, 5 and 6 each have the same
number of students, but there are twice this
number in class 1. If a student is selected at
random from the school, What is the

probability that he (she)will be in class 2

o Watch Video Solution

66. Let a die be weighed in such a way that the

probability of getting a number n s


https://dl.doubtnut.com/l/_jUXT4uitV49Q
https://dl.doubtnut.com/l/_kZ9uaLbrVVcZ

proportional to n

o Watch Video Solution

67. Let a die be weighed in such a way that the
probability of getting a number n s
proportional to n .Find the probability of each

elementary event.

° Watch Video Solution



https://dl.doubtnut.com/l/_kZ9uaLbrVVcZ
https://dl.doubtnut.com/l/_7JfkUfQPN8Uy

68. Find the probability of getting an even

number in a single roll of the die.

° Watch Video Solution

69. Find the probability of getting a odd

number in a single roll of the die

o Watch Video Solution



https://dl.doubtnut.com/l/_rjCA5uiXsecy
https://dl.doubtnut.com/l/_vgQicxGZsmBY

70. Find the probability of getting a prime

number in a single roll of the die

o Watch Video Solution

71. Five boys and three girls are playing a
chess tournament. All boys have the same
probability p of winning the tournament and
all the girls have the same probability q of
winning. If p= 2q, find the probability that a

boy wins the tournament

| & I


https://dl.doubtnut.com/l/_BEQWZgsU7wQz
https://dl.doubtnut.com/l/_JDZzSLYivMxq

| ¥ Watch Video Solution |

72. Five boys and three girls are playing a
chess tournament. All boys have the same
probability p of winning the tournament and
all the girls have the same probability q of
winning. If p= 2q, find the probability that a

girls wins the tournament

o Watch Video Solution



https://dl.doubtnut.com/l/_JDZzSLYivMxq
https://dl.doubtnut.com/l/_2QmJhX32qP8c

73.Two balls are drawn from a bag containing
5 white and 7 black balls. Find the probability

od selecting 2 white balls if

o Watch Video Solution

74. The first ball is replaced before drawing

the second.

° View Text Solution



https://dl.doubtnut.com/l/_4K6M7jRxrUfu
https://dl.doubtnut.com/l/_mhmXCR5arAlI

75. The first ball is not replaced before

drawing the second.

° View Text Solution

76. Two cards are drawn from a pack of 52
cards, find the probability that

they are of different suits.

° Watch Video Solution



https://dl.doubtnut.com/l/_o49AylatB71l
https://dl.doubtnut.com/l/_APaV7tWKvRuK

77. Two cards are drawn from a pack of 52
cards, find the probability that

they are of different denomination.

o Watch Video Solution

78. Do both parts of problem 2 if 3 cards

drawn at random.

° Watch Video Solution



https://dl.doubtnut.com/l/_f39jT4bqcAvw
https://dl.doubtnut.com/l/_hHIMpfdWwaBL

79. Do both parts of problem 2 if 4 cards are

drawn at random.

° Watch Video Solution

80. A lot contains 15 items of which 5 are
defective. If three items are drawn at random,
find the probability that (i) all three are

defective

o Watch Video Solution



https://dl.doubtnut.com/l/_RAN4Z1f9UvaY
https://dl.doubtnut.com/l/_DtZGf8odsEBi
https://dl.doubtnut.com/l/_jWltVtJEilgd

81. A lot contains 15 items of which 5 are
defective. If three items are drawn at random,
find the probability that

none of the three is defective. Do this problem

directly.

o Watch Video Solution

82. A pair of dice is thrown. Find the
probability of getting a sum of at least 9 if 5

appears on at least one of the dice.

o Watch Video Solution



https://dl.doubtnut.com/l/_jWltVtJEilgd
https://dl.doubtnut.com/l/_541j3SoNCtxh

8. A pair of dice is thrown. If the two numbers
appearing are different , find the probability
thet

the sum of point is 8.

o Watch Video Solution

84. A pair of dice is thrown. If the two numbers

appearing are different , find the probability


https://dl.doubtnut.com/l/_541j3SoNCtxh
https://dl.doubtnut.com/l/_FIHfx6VeXge8
https://dl.doubtnut.com/l/_kvOSgSK05IVv

thet

the sum of points exceeds 8.

° Watch Video Solution

85. A pair of dice is thrown. If the two numbers
appearing are different , find the probability
thet

6 appears on one die.

o Watch Video Solution



https://dl.doubtnut.com/l/_kvOSgSK05IVv
https://dl.doubtnut.com/l/_0Lk2Z9SOBTeE

86. In a class 30% of the student fail in
Mathematics,20 % of the student fail in
English and 10 % fail in both. A student is

selected at random.

o Watch Video Solution

87. In a class 30% of the student fail in
Mathematics,20 % of the student fail in

English and 10 % fail in both.If he has failed in


https://dl.doubtnut.com/l/_wQOAkEEgqmbu
https://dl.doubtnut.com/l/_H4NzwToWR583

English, what is the probability thet he has

failed in Mathematics?

° Watch Video Solution

88. In a class 30% of the student fail in
Mathematics,20 % of the student fail in
English and 10 % fail in bothlf he has failed in
Mathematics, what is the probability that he

has failed in English

° Watch Video Solution



https://dl.doubtnut.com/l/_H4NzwToWR583
https://dl.doubtnut.com/l/_clxP8RdSKhjW
https://dl.doubtnut.com/l/_NArsdb69oRda

89. In a class 30% of the student fail in
Mathematics,20 % of the student fail in
English and 10% fail in both.What is the

probability that he has failed in both ?

o Watch Video Solution

90. If AB are two events such that P(A)=0.3,
P(B)=0.4,P(AcupB)=0.6 Find

P(A| B)

o Watch Video Solution



https://dl.doubtnut.com/l/_NArsdb69oRda
https://dl.doubtnut.com/l/_dCKZ0Tb09NiC

91. If AB are two events such that P(A)=0.3,
P(B)=0.4,P(AcupB)=0.6 Find

P(B | A)

o Watch Video Solution

92. If AB are two events such that P(A)=0.3,
P(B)=0.4,P(AcupB)=0.6 Find

'P(A | B”c)

o Watch Video Solution



https://dl.doubtnut.com/l/_SPmGR6KXPryt
https://dl.doubtnut.com/l/_sSp1t9fvihEo
https://dl.doubtnut.com/l/_tQPfphV9eZpS

93. If AB are two events such that P(A)=0.3,
P(B)=0.4,P(AcupB)=0.6 Find

'P(B | A*c)

o Watch Video Solution

94. If A, B are event such that P(A)=0.6,
P(B)=0.4 and P(A N B)=0.2, then find

P(A| B)

o Watch Video Solution



https://dl.doubtnut.com/l/_tQPfphV9eZpS
https://dl.doubtnut.com/l/_3TXm3hA7G7Y8
https://dl.doubtnut.com/l/_rhA1YWwMsND3

95.If A, B are event such that P(A)=0.6, P(B)=0.4
and P(A N B)=0.2, then find

P(B | A)

o Watch Video Solution

96. If A, B are event such that P(A)=0.6, P(B)=0.4
and P(A N B)=0.2, then find

P(A | B)

o Watch Video Solution



https://dl.doubtnut.com/l/_rhA1YWwMsND3
https://dl.doubtnut.com/l/_n8NI9WlWXILq

97.1f A, B are event such that P(A)=0.6, P(B)=0.4
and P(A N B)=0.2, then find

P(B | A°)

o Watch Video Solution

98. If A and B are independent events,show
that

A° and B° are independent,

o Watch Video Solution



https://dl.doubtnut.com/l/_KGgRyPprFlha
https://dl.doubtnut.com/l/_sw5j0HXaMeWg
https://dl.doubtnut.com/l/_3E9XUPBDU3oZ

99. If A and B are independent events,show
that

A and B¢ are independent

o Watch Video Solution

100. If A and B are independent events,show
that

A€ and B are independent.

o Watch Video Solution



https://dl.doubtnut.com/l/_3E9XUPBDU3oZ
https://dl.doubtnut.com/l/_vUQDrLWqrITS
https://dl.doubtnut.com/l/_diklkUc746ys

101. Two different digits are selected at
random from the digits 1 through 9
If the sum is even, what is the probability that

3 is one of the digits selected?

o Watch Video Solution

102. Two different digits are selected at
random from the digits 1 through 9
If the sum is odd, what is the probabililty that

3 is one of digits selected?

o Watch Video Solution



https://dl.doubtnut.com/l/_diklkUc746ys
https://dl.doubtnut.com/l/_mEb4rarpK1Jb

103. Two different digits are selected at
random from the digits 1 through 9
If 3 is one of the digits selected, what is the

probability that the sum is odd?

o Watch Video Solution

104. Two different digits are selected at
random from the digits 1 through 9
If 3 is one of the digits selected, what is the

probability that the sum is even?


https://dl.doubtnut.com/l/_mEb4rarpK1Jb
https://dl.doubtnut.com/l/_XBnWpTQKXn0s
https://dl.doubtnut.com/l/_gs8wgNFmm0rf

° Watch Video Solution

105. If P (A) = 04P (B | A= 03 and
P(B° | A°) = 0.2.find

P(A|B)

° Watch Video Solution

106. If P (A) = 04P (B | A= 03 and

P(B°| A°) = 0.2. f € dP (B | A)

o Watch Video Solution



https://dl.doubtnut.com/l/_gs8wgNFmm0rf
https://dl.doubtnut.com/l/_zfJnyb87GKSL
https://dl.doubtnut.com/l/_2MpzqVA1abfX

107. If P (A) = 0.4P (B | A)= 03 and P (B"c |
A*c)=0.2. find

P(B)

o Watch Video Solution

108. If P (A) = 04P (B | A= 03 and

P(B°| A°) = 0.2. f € dP(AC)

° Watch Video Solution



https://dl.doubtnut.com/l/_2MpzqVA1abfX
https://dl.doubtnut.com/l/_byMUOsN4rx4K
https://dl.doubtnut.com/l/_2qxZFNtDSlcZ
https://dl.doubtnut.com/l/_MSWo3rkUpKat

109. If P (A) = 04P (B | A= 03 and

P(B°| A°) = 0.2. f € dP(A cup B)’

o Watch Video Solution

110. If P(A)=0.6, P(B | A)= 0.5, find P (A U B) if A,

B are independent.

° Watch Video Solution

111. Two cards are drawn in succession from a

deck of 52 cards. What is the probability that


https://dl.doubtnut.com/l/_MSWo3rkUpKat
https://dl.doubtnut.com/l/_Og0lBBtM8ItF
https://dl.doubtnut.com/l/_v3jPPVd4YUUH

both cards are of denomination greater than 2

and less than 9?7

° Watch Video Solution

112. From a bag containing 5 black and 7 white
balls, 3 balls are drawn in succession . Find the
probability that

all three are of the same colour.

o Watch Video Solution



https://dl.doubtnut.com/l/_v3jPPVd4YUUH
https://dl.doubtnut.com/l/_h4y9k9HbuaG2

113. From a bag containing 5 black and 7 white
balls, 3 balls are drawn in succession . Find the
probability that

each colour is represented.

° Watch Video Solution

114. A die is rolled until a 6 is obtained. What is
the probability that

you end up in the second roll

° Watch Video Solution



https://dl.doubtnut.com/l/_3YBSS8gdhm0e
https://dl.doubtnut.com/l/_aOUelCpBvtK5

115. A die is rolled until a 6 is obtained. What is
the probability that

you end up in the third roll.

o Watch Video Solution

116. A person takes 3 tests in succession. The
probability of his (her) passing the first test is
0.8. The probability of passing each successive

test is 0.8 or 0.5 according as he passes or fails


https://dl.doubtnut.com/l/_aOUelCpBvtK5
https://dl.doubtnut.com/l/_TtkcH2oWrwyi
https://dl.doubtnut.com/l/_dRRBWVeu20I7

the preceding test. Find the probability of his

(her) passing at least 2 tests.

° Watch Video Solution

117. A person takes 4 tests in succession. The
probability of his passing the first test is p,
that of his passing each succeeding test is p
or % depending on his passing or failing the
preceding test, Find the probabilty of his
passing

at least three test

| e |


https://dl.doubtnut.com/l/_dRRBWVeu20I7
https://dl.doubtnut.com/l/_ibXL36PufjPd

& Watch Video Solution I

118. A person takes 4 tests in succession. The
probability of his passing the first test is p,
that of his passing each succeeding test is p
or % depending on his passing or failing the
preceding test, Find the probabilty of his
passing

just three tests.

° Watch Video Solution



https://dl.doubtnut.com/l/_ibXL36PufjPd
https://dl.doubtnut.com/l/_pjmspjrUvwZd

119. Given that all three faces are different in a
throw of three dice, find the probability that

at least one is a six

o Watch Video Solution

120. Given that all three faces are different in a
throw of three dice, find the probability that

the sum is 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_Y6ZSsYpahmaE
https://dl.doubtnut.com/l/_bqI6neSuqBQ6
https://dl.doubtnut.com/l/_RELRuagapgp7

121. From the set of all families having three
children, a family is picked at random
If the eldest child happens to be a girl, find the

probability that she has two brothers.

o Watch Video Solution

122. From the set of all families having three
children, a family is picked at random
If one child of the family is a son. find the

probablilty that he has two sisters.

o Watch Video Solution



https://dl.doubtnut.com/l/_RELRuagapgp7
https://dl.doubtnut.com/l/_CdzezZee2AJN

123. Three persons hit a target with probability

1 1 1
—, — and — respectively. If each one shoot at

2’3 4
the target once,

find the probability that exactly one of them

hits the target

o Watch Video Solution

124. Three persons hit a target with probability

1 1 1

273 and 1 respectively. If each one shoot at


https://dl.doubtnut.com/l/_CdzezZee2AJN
https://dl.doubtnut.com/l/_hYW1Ue54ddh3
https://dl.doubtnut.com/l/_F6jvTT8lxpoP

the target once,

if only one of them hits the target what is the

probability that it was the first person ?

o Watch Video Solution

125. A bag contains 5 white and 3 black
marbles and a second bag contains 3 white
and 4 black marbles. A bag is selected at
random and a marble is drawn from it. Find

the probability that it is white. Assume that


https://dl.doubtnut.com/l/_F6jvTT8lxpoP
https://dl.doubtnut.com/l/_h3Ia8J3ZPRVA

either bag can be chosen with the same

probability.

° Watch Video Solution

126. A bag contains 5 white and 3 black balls, a
second bag contains 4 white and 5 black balls,
a third bag contains 3 white and 6 black balls.
A bag is selected at rendom and a ball is
drawn. Find the probability that the ball is

black.


https://dl.doubtnut.com/l/_h3Ia8J3ZPRVA
https://dl.doubtnut.com/l/_lSLoJtaGMNBN

Do the problem assuming that the probability

of choosing each bag is same.

o Watch Video Solution

127. A bag contains 5 white and 3 black balls, a
second bag contains 4 white and 5 black balls,
a third bag contains 3 white and 6 black balls.
A bag is selected at rendom and a ball is
drawn. Find the probability that the ball is
black.

Do the problem assuming that the probability


https://dl.doubtnut.com/l/_lSLoJtaGMNBN
https://dl.doubtnut.com/l/_KUYGrY7EXp64

of choosing the first bag is twice as much as
choosing the second bag, which is twice as

much as choosing the third bag.

° Watch Video Solution

128. A and B play a game by alternately
throwing a pair of dice. One who throws 8
wins the game. If A starts the game, find their

chances of winning.

° Watch Video Solution



https://dl.doubtnut.com/l/_KUYGrY7EXp64
https://dl.doubtnut.com/l/_TWtp7CnbAS4Y
https://dl.doubtnut.com/l/_asZ0XS9VzV4Q

129. A and B play a game by alternately
throwing a pair of dice. One who throws 8
wins the game. If A starts the game, find their

chances of winning.

° Watch Video Solution

130. There are 6 white and 4 black balls in a
bag. If four are drawn successively (and not
replaced),find the probability that they are

alternately of different colour.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_asZ0XS9VzV4Q
https://dl.doubtnut.com/l/_YQd7mTqPTcG2

131. Five boys and four girls randomly stand in
a line. Find the probability that no two girls

come together.

° Watch Video Solution

132. If you throw a pair of dice n times, find the
probability of getting at least one doublet.
[When you get identical members you call it a

doublet. You can get a double in six ways: (1,1),


https://dl.doubtnut.com/l/_YQd7mTqPTcG2
https://dl.doubtnut.com/l/_hH1CAU9sdovS
https://dl.doubtnut.com/l/_pnfbCicZbaLb

(2,2),(3,3),(4,4),(5,5) and (6,6) , thus the

§ 1
probability of getting a doublet is 36 = 5

so that the probability of not getting a

5
doublet in one throwis —|.

6

o Watch Video Solution

133. Suppose that the probability that your
alarm goes off in the morning is 09. If the
alarm goes off, the probability is 0.8 that you
attend your 8 a.m. class. If the alarm does not

go to off, the probability that you make your 8


https://dl.doubtnut.com/l/_pnfbCicZbaLb
https://dl.doubtnut.com/l/_fTYpnqh4LNIL

a.m.class is 0.5. Find the probability that you

make your 8 a.m. class.

° Watch Video Solution

134. If a fair coin is tossed 6 times, find the

probability that you get just one head.

o Watch Video Solution

135. Can you generalize this situation? If a fair

coin is tossed six times, find the probability of


https://dl.doubtnut.com/l/_fTYpnqh4LNIL
https://dl.doubtnut.com/l/_LB2K4QvmW87F
https://dl.doubtnut.com/l/_Kce0MKqrCU0L

getting exactly 2 heads.

o Watch Video Solution

136. There are 3 bags B;, By and B3 having
respectively 4 white, 5 black, 3 white, 5 black
and 5 white, 2 black balls. A bag is chose at
random and a ball is drawn from it. Find the

probability that the ball is white.

o Watch Video Solution



https://dl.doubtnut.com/l/_Kce0MKqrCU0L
https://dl.doubtnut.com/l/_rOWtcGIPYbU8

137. There are 25 girls and 15 boys in class XI
and 30 boys and 20 girls in class XII. If a
student chosen from a class, selected at
random, happens to be a boy, find the
probability that he has been chosen from class

XII.

o Watch Video Solution

138. Out of the adult population in a village

50% are farmers, 30 % do business and


https://dl.doubtnut.com/l/_2CUoyhR4Ol5j
https://dl.doubtnut.com/l/_Xo9HVOn6aciJ

20 % are service holders. It is known that
10 % of the farmers, 20 % of the business
holders and 50 % of service holders are above
poverty line. What is the probability that a
member chosen from any one of the adult
population, selected at random, is above

poverty line?

o Watch Video Solution

139. Out of the adult population in a village

50% are farmers, 30 % do business and


https://dl.doubtnut.com/l/_Xo9HVOn6aciJ
https://dl.doubtnut.com/l/_mYVxBbD3CLZV

20 % are service holders. It is known that
10 % of the farmers, 20 % of the business
holders and 50 % of service holders are above
poverty line. If a member from any one of the
adult population of the village, chosen at
random, happens to be above poverty line,
then estimate the probability that he is a

farmer.

o Watch Video Solution



https://dl.doubtnut.com/l/_mYVxBbD3CLZV

140. From a survey conducted in a cancer
hospital it is found that 10 % of the patients
were alcoholics, 30 % chew gutka and 40 %
have no specific carcinogenic habits. If cancer
strikes 80% of the smokers, 70% of
alcoholics, 50 % of the non specific, then
estimateic the probability that a cancer
patient chosen from any one of the above
types, selected at random,

is a smoker

o Watch Video Solution



https://dl.doubtnut.com/l/_WVVFvU97Q9jF

141. From a survey conducted in a cancer
hospital it is found that 10 % of the patients
were alcoholics, 30 % chew gutka and 40 %
have no specific carcinogenic habits. If cancer
strikes 80% of the smokers, 70% of
alcoholics, 50 % of the non specific, then
estimateic the probability that a cancer
patient chosen from any one of the above
types, selected at random,

is alcoholic

o Watch Video Solution



https://dl.doubtnut.com/l/_3En4OidLZoZg

142. From a survey conducted in a cancer
hospital it is found that 10 % of the patients
were alcoholics, 30 % chew gutka and 40 %
have no specific carcinogenic habits. If cancer
strikes 80% of the smokers, 70% of
alcoholics, 50 % of the non specific, then
estimateic the probability that a cancer
patient chosen from any one of the above
types, selected at random,

chews gutka

o Watch Video Solution



https://dl.doubtnut.com/l/_zBhtv2fVmN4d

143. From a survey conducted in a cancer
hospital it is found that 10 % of the patients
were alcoholics, 30 % chew gutka and 40 %
have no specific carcinogenic habits. If cancer
strikes 80% of the smokers, 70% of
alcoholics, 50 % of the non specific, then
estimateic the probability that a cancer
patient chosen from any one of the above
types, selected at random,

has no specific carcinogenic habits.

o Watch Video Solution



https://dl.doubtnut.com/l/_YkMHTlH2s0kr

144. State which of the following is the
probability distribution of a random variable X

with reasons to your answer :

>

o View Text Solution

145. State which of the following is the
probability distribution of a random variable X

with reasons to your answer :

>

| & I


https://dl.doubtnut.com/l/_5b4TD6DTkMKp
https://dl.doubtnut.com/l/_3mYuEQE9gHiU

| ¥ View Text Solution |

146. State which of the following is the
probability distribution of a random variable X

with reasons to your answer :

Lo

° View Text Solution

147. Find the probability distribution of

number of doublets in four throws of a pair of


https://dl.doubtnut.com/l/_3mYuEQE9gHiU
https://dl.doubtnut.com/l/_wsFsKVsRhUw0
https://dl.doubtnut.com/l/_ZazWQhKXqtbV

dice. Find also the mean and the variance of

the number of doublets.

° Watch Video Solution

148. Four cards are drawn successively with
replacement from a well shuffled pack of 52
cards. Find the probability distribution of the
number of aces. Calculate the mean and

variance of the number of aces.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZazWQhKXqtbV
https://dl.doubtnut.com/l/_VAgwy8arh9Wy
https://dl.doubtnut.com/l/_qheXndZc5FUG

149. Find the probability distribution of

number of heads in three tosses of a coin.

o Watch Video Solution

150. Find the probability distribution of
number of heads in simultaneous tosses of

four coins.

o Watch Video Solution



https://dl.doubtnut.com/l/_qheXndZc5FUG
https://dl.doubtnut.com/l/_kIjEgtip7oGX

151. A biased coin where the head is twice as
likely to occur as the tail is, tossed thrice. Find
the probability distribution of number of

heads.

o Watch Video Solution

152. Two cards are drawn successively with
replacement from a well-shuffled deck of 52
cards. Find the probability distribution of the

number of aces.

| & I


https://dl.doubtnut.com/l/_DcQ945JBgiEz
https://dl.doubtnut.com/l/_Cf7rqAuIiFsR

| ¥ Watch Video Solution |

153. From a box containing 32 bulbs out of
which 8 are defective 4 bulbs are drawn at
random successively one after anoter with
replacement. Find the probability distribution

of the number of defective bulds.

o Watch Video Solution

154. A random variable X has the following

probability distribution


https://dl.doubtnut.com/l/_Cf7rqAuIiFsR
https://dl.doubtnut.com/l/_TI5jIA38ZYcA
https://dl.doubtnut.com/l/_xRHAjDDb7a58

3 Determine R

o View Text Solution

155. A random variable X has the following
probability distribution

l». Determine P(X < 4)

o View Text Solution

156. A random variable X has the following

probability distribution


https://dl.doubtnut.com/l/_xRHAjDDb7a58
https://dl.doubtnut.com/l/_wmNIDIninbxm
https://dl.doubtnut.com/l/_LNHtPojbyUzE

s Determine P(X > 2)

o View Text Solution

157. A random variable X has the following
probability distribution

L+, Determine P(2 < X <5)

o View Text Solution

158. Find the mean and the variance of the

number obtained on a throw of an unbiased


https://dl.doubtnut.com/l/_LNHtPojbyUzE
https://dl.doubtnut.com/l/_lGJgvg11SZK2
https://dl.doubtnut.com/l/_uBYhQsadDibq

coin.

o Watch Video Solution

159. A pair of coins is tossed 7 times. Find the
probability of getting

exactly five tails

o Watch Video Solution

160. A pair of coins is tossed 7 times. Find the

probability of getting


https://dl.doubtnut.com/l/_uBYhQsadDibq
https://dl.doubtnut.com/l/_7rgnDGgG1VwT
https://dl.doubtnut.com/l/_cGEYVPbD6R5D

at least five tails

o Watch Video Solution

161. A pair of coins is tossed 7 times. Find the
probability of getting

at most five tails

o Watch Video Solution

162. If a pair of dice is thrown 5 times then find

the probability of getting three doublets.


https://dl.doubtnut.com/l/_cGEYVPbD6R5D
https://dl.doubtnut.com/l/_JmDFRnIQZxgl
https://dl.doubtnut.com/l/_P3dOU03IyMT5

° Watch Video Solution

163. Four cards are drawn successively with
replacement from a well-shuffled pack of 52
cards. What is the probability that :

all the four cards are diamonds

o Watch Video Solution

164. Four cards are drawn successively with

replacement from a well-shuffled pack of 52


https://dl.doubtnut.com/l/_P3dOU03IyMT5
https://dl.doubtnut.com/l/_gSofzrSNT70g
https://dl.doubtnut.com/l/_lTJTk3IgZjjb

cards. What is the probability that :

only two cards are diamonds

° Watch Video Solution

165. Four cards are drawn successively with
replacement from a well-shuffled pack of 52
cards. What is the probability that :

none of the cards is a diamond.

o Watch Video Solution



https://dl.doubtnut.com/l/_lTJTk3IgZjjb
https://dl.doubtnut.com/l/_3G1SZv5qkEDZ

166. In an examination there are twenty
multiple choice question each of which is
supplied with four possible answers. What is
the probability that a candidate would score
80% or more in the answer to these

questions ?

o Watch Video Solution

167. A bag contains 7 balls of different colours.

If five balls are drawn successively with


https://dl.doubtnut.com/l/_JA2hrGS5TZFA
https://dl.doubtnut.com/l/_T5oZAtcX12Vi

replacement then what is the probability that

none of the balls drawn is white ?

° Watch Video Solution

168. Find the probability of throwing at teast 3

sixes in 5 throws of a dia.

o Watch Video Solution

169. The probability that a student securing

first division ia an examination is 1—0 What is


https://dl.doubtnut.com/l/_T5oZAtcX12Vi
https://dl.doubtnut.com/l/_lR6KqqPiyxzP
https://dl.doubtnut.com/l/_S35DYFuScobg

the probability that out of 100 students

twenty pass in first division ?

° Watch Video Solution

170. Sita and Gita throw a dia alternatively till
one of them gets a 6 to win the game. Find
their respective probability of winning if Sita

starts first.

o Watch Video Solution



https://dl.doubtnut.com/l/_S35DYFuScobg
https://dl.doubtnut.com/l/_ODTrL1e2V48A

171. If a random variable X has a binomial
1
distribution B (8, E) then find X for which

the outcome is the most likely.

° Watch Video Solution



https://dl.doubtnut.com/l/_DLtTkmAxftg6

